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1.

- (D) In ubper arm

Chhattisgarhi  djalect ‘Lariya’ is
spoken near border of which State?
(A) Maharashtra

(B) Jharkhand

(C) Odisha

(D) Madhyé Pradesh

What is ‘Chikaara’?
(A) Method of hunting
(B) A type of dish
(C) . A type of animal |

D) A typé_ of vocal instrument

‘Saanti’ named Jewellery is worn on
which part of body?
(A) In neck -

(B) In leg

(©) In wrist

-

- Meaning of idiom ‘Jar Butaan’ is :

(A) to get cold
(B) .anger getting’ calmed down
© life force getting weakened

(D) to-burn with anger
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5, O WM SR T AN W % gAE | 5. “The election of Lok Sabha “and

FEh FAMHER & MUR | 21" —=g State Legislative Assembly will be

Hfaur & {6 see § faan o 30 held on the basis of adult suffrage”-
It is written in which Article of the
(A) =T 324 )
Constitution?
(B) =T 325 7Q (A) Article 324
(C) ;ﬂifaa .326 (B) Article 325
(C) Article 326
(D) =7 327 T

(D) ‘Article 327

== 6.  What is annotated in State emblem of
S — |
@ g2 Chhattisgarh State?

(A) Wild Buffalo
(B) wxreTR @1 e ¢

(C) ufsm T & fomax )

(D) =9& @y

(B) Map of Chhattisgarh
(C) Shikhar of Rajim Temple
(D) Ashok Stambh

/GHHIH‘IG. @%Wﬁﬁm,@, 7. Which period of rocks are mainly

P FLEH IHEE ¥ e 2 found in Baghelkhand Plateay in

“ - Chhattisgarh?
N (A) Tertiary Period
(B) el i o |
| (B) Palacocene Period
(C) wufes 7 [~ Jurassi
(C) Jurassic Period
N K4
(D) SdifEr it )~ (D) Devonian Period
SET-D [D-4]
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8. frafafed # 9 feg & &1 3™ T 8. Origin of which
AT W@ﬁj? the Chhattisgarh border from the
(A) o T 2 following?
(A) Ib River
(B) =mEdl 7t .
(B) Indravati River
3 A
(©) =~ (C) Pairi River
(D) B® Tat (D) Hanph River
9 . @élgl[a TG & 98 HiA- g, el 9.  Which part of the Chhattisgarh State
/ "ﬁaﬂc\ﬂiﬁ, EFT\_&/ m g? ~,b has less temperature variation 1n
Y -
v d winter season?
(A) TUSHRTE W TR O | gy SHmmenag
: /K}B’ &/@ (A) Dandakaranya Plateau
®» TATe 1 HIA ooy, :
\r\ St~ (B) Plain of Chhattisgarh
(C) TS ST SR )Q (C) Surguja Plateau
(D) Hehet Foit 7c (D) Maikal Range
10 ’gﬂ &= %@Eﬁ)aﬁ'{ @ &= § | 10. Which mineral is found in Balochi
FH-| @ fire & 2 and Dhelkadad area of Durg area?
(A) HTAS (A) Manganese
@B) fa T (B) Tin
(C) darerge T (C) Bauxite
D) g4 (D) Lead
/ﬁwmm@mmﬁﬁm ‘11. To call a special meeting of Zila
?ﬁéf Tt ﬁ@fgﬁ_awqm W Panchayat how many members
37 requisition in writing is essential?
Y 2
1 : 1 1 )
(A) § WTQ (B) Z g (A) 3 members (B) % members
| ] p 2 1 )
() 3 qu{ (D) 3 qc © Y members (D) 3 members
SET-D [D-5] GEN-cO
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12.

13.

Between coal layers  is found in
Raigarh District.

(A) Asbestos

(B) Fire clay 7

(C) Mica

(D) Graphite

In the condition Qf casual vacancy in
the office of Sarpanch, who will act
as officiating Sarpanch?

(A) Deputy Sarpanch

'(B) Senior most member |

(C) A member appoihted by
' competent authority

A member elected by members

D)

q<H '
: \ amongst themselves
Vi Wrﬂg‘q’m T3 _hl 3! EFM'EIF{— 14. Arrangé the following kings of Pandu
eafy & 2 ggd i HARY tr\gz . dynasty in éscendiné Jorder of their
() HefvE diered i - tenure : . |
1) S ‘BO " (i) * Mahashiv Tiwér&iev
: (i) Nanddev Pratham |
(iif) T=aA . ,
i V@/ (ifi) Indrabal
iv) &7 ( (- ) (iv) Harshagupta
A)- () (l'l'i) ‘ ”) | (A) () @) @) ()
_(E(M (i) (i) Q B) Gv) (i) Gii) ()
/94m @y @ . @) © @y @G
m)w)(m.ow U D) Gy Giy Gy O)
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IS. w\ﬁ; m“ N Ifecifad qerftemrit 15. Who was the ‘Kulputrak’, the office-
g @":'3373\{; H 2 bearer mentioned in the Yagya Pillar of
(A) st e faet Kirari ?
(B) TR (A) Engineer/ Chief Mechanic
/’(/C‘) 5 W (B) King -
- (C) The son of the clan
(D) S (D) Diwan
1/6/ el IW ST . 16. Write the correct answer :
4 1854, | AR T & fafew |meg st When Nagpur State was made a part
Sﬁ o1 _forn ) ' of the British Empire in 1854, then—
| ‘ ’ﬂ@ Statement (I) : Mr. Mensal,
HAT () : AR T F Wiee A resident of Nagpur
Toa =7 ffew 31’[‘%43?{ was madF tl’lle first
' Commissioner
R T R of the British-
S T occupied Nagpur
; “ State.
EHW\}}I’)’ . .r@é W Statement (II) : Mr. Charles C.
. sferre Fl S T | Elliot was made
the first Deputy
(a) =51 (1) E%TT &\ g =) (i) Commissioner.
e (A) Statement - (D is true but
(B) ®eF (I) T ¥ g H (H) ‘Statement (II) is false
el ® (B) Statement (I) is false but .
Statement (II) is true -
(© =M Qa e (1) <R e (C) Statement (I) and Statement (II)
g both are false
)49’)/ Fod (1) @@ w7 (1) SH gEt (D) Statement (I) and Statement (II)
3 ' both are true
[D-7] GEN-CO
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17. Match List-I with List-II regarding
the causes of the Tribal Rebellion of
Chhattisgarh :

List-I " List-II

(a) Paralkot (i) Against the
Rebellion abolition
of human

sacrifice

l(b) Meriya (ii) Against

Rebellion . the hike in

' : Takoli Tax

(¢) Koi ~ (iii) Against the
Rebellion Exploitation

of Maratha

and British

rule in Bastar

(d) Tarapur (iv) Against the
Rebellion cutting of the
| Sal Tree

@ ¢ o @
A (@) - @) .(iii)h (iv)
B) (v) (@ (‘ii) .(iii)
©) @) @iy (@)
O Gy O ) @

e
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18.

19.

20.

Which statement is not truc about

‘Diwan Gopinath Kapaddar’?

(A) Appointed Diwan by
Bhairamdev in 1867.

(B) Played an important role in
suppressing Bastar rovolt.

(C) Became the main cause of
Bastar revolt of 1876.

(D) King Bhairamdev handed over

~ his throne.

Arrange in order from beginning to
end, the Farmers Movements which

started in Chhattisgarh :

(/) Kandel Canal Satyagfaha

(i) Daundilohara Kisan Movement

(iii) Virat Kisan Sahha at Kusumkasa

>iv) Rebellion against forced labour
system by Sevata Thakur

(A @Gy @@y @ @)

B) v @ @) )

© @i @@ (@ O

D) @ @) @) W)

The only representative from

Chhattisgarh in the 1889 Bombay

Session of the Congress was :

(A) Barrister Chedilal

(B) Pandit Ravishankar Shukla

(C) Waman Rao Lakhe

(D) Ramchandra Rao Lakhe
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(B) ozt e 1°
(C) v A ﬁ

(D) it it ()
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21. Who opposed the Simon Commission

as the Minister of Education?

(A) Ghanshyam Singh Gupta
(B) Barrister Chedilal
(C) Dr. E. Raghavendra Rao

(D) Waman Rao Lakhe

22. Who was arrested for hoisting the

“Tricolour Flag’ in Raipur during

’thc Quit India Movement of 1942 in

Chhattisgarh?

(A) Sree Ranveer Shastri

(B) Shree Ravishankar Shukla
(C) Shree Ramkrishna Thakur

(D) Shree Khoobchand Baghel

23. In whose time the Forester came to

Chhattisgarh?

(A) Mahipat Rao Dinkar
(B) Vitthal Di;lkar

(C) Keshav Govind

(D) Bikaji Bhonsle

GEN-CO
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(A) 12.57

(B) 11.94
(C) 10.52

(D) 10.19

24.

25.

26.

27.

In Chhattisgarh State, crop circle

contribution percentage in Gross

Domestic Production in the year

2019-2020 is :
(A) 12.57
(B) 11.94
(C) 10.52
(D) 10.19
Which is main oilseeds crop of
Chhattisgarh ?
(A) Soyabean
(B) Flax-seed
(C) Til

(D) Peanut -

In Chhattisgarh, forests of which
district are called-D_hrhE,l/):..

(A) Bastar

(B) Dantewada
) ] ashpuf
(D) Korba

Which district in Chhattisgarh has

State Tomato Research Center?
(A) Raipur

(B) Bilaspur

(C) Bastar

(D) Jashpur

[D-11]

GEN-CO




zs/w-ﬂwr T o v*n(w m forg
IEC R,

(A) TR

B) faewag T
© i
©) e /S

( a?ma’taﬁwmmﬁw
waﬁmmw%

(A) Trsﬂaaqfqmm
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(©) = o= g

(D) W= # 4 8 &

)o./'mﬁ e T @ s &

Th a1y ek et @ e
Tl B smon''—a% d@fgum ¥ fay
s A foran T &2

(A) FIT=T 19

(B) 3"’:@?2070

(C) - =27 299

(D) =T 22

31 dgu wutesh A qean A 5

AT fepan T &

) VR T wul % A W
(B) qmm}aﬁ:wm/"
(C) mﬁanﬁﬁ%mmﬁ
(D) = ¥+ T L

28.

29.

30.

31.

First Bear Plant of Chhattisgary, Stag
is in which district?

(A) Bastar

'(B) Bilaspur -

(C) Durg-
(D) Sarguja

‘Which plan of Chhattisgarh State i

related to self-reliance of Vanancha]
villages? _

(A) Rajiv Van Mitan Yojana

(B) Indira Van Mitan Yojana

(C) Van Mitra Yojana

(D) None of the ab_bve

“No person shall be prosecuted or

punished for the same offence more

than once”-It is written. in which

Article of the Constitution?
(A) "Article 19

(B) Article 20

(©) Article 21

(D) Article 22

Tendupatta  Sangrahak ‘Samajik
Suraksha Yojana is named on the

name of :

- (A) Shahced Mahendra I\'mm

(B) Khoobchand Baghel
(C) Rajiv Gandhi
(D) None of them
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(A) o5 Femn
(B) =120
(C) Y=Mr

(D) FfEHm 1 Toem

32.

On which ground President can be

impcached?

(A) Proved misbchaviour””
(B) Incapacity /J

(C) Corruption™

(D) Violation of Constitution

_—
4

33 TR A TN T F q7Er, daerd 33. After the preparation of the voters

AT T A S, _ZE- 2t w g
1 wEfed F gum vza w wef

@mmw

(B) wHafua um b= |
(C) M vamdl | TEad S T

T

(D) 1 g EEEPR T

list, on which offices notice board

claims for inclusion of names in the

list or objections to any entry is not

to be published?

(A) Registration Officer

(B) Gram Panchayats to which it
relates

(C) Janpad Panchayats within which
the Gram Panchayat lies

(D) In all Gram Panchayats and

T |
Janpad Panéhayats of the State
R

//3}// ZteTg ToA # g W‘%’? 34. In which year, was the first Panchayat
i sfad ge ? "( Y clection held in Chhattisgarh State?

(A) SHAd 2001 j\‘ﬂ (A) January 2001

(B) e 2002 WM (B) January 2002

% SAE 2003 ;): o) (C) January 2003

(D) SEAd 2005 a (D) January 2005
SET-D [D-13] GEN-CO
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(A) T 90, st temm fara
fram, 1995

(B) fram 3, witemg wumm from
e

(@) @vs 50 (3), saTe TaEE T
Afafam, 1993

1994

(D) @vs 69, TdER YEEd U

s, 1993

W%m"mgﬂﬁaﬂ&;ﬁqaﬁ

1977 ® TRy wfafa &1 787 genm a41?

:(
Gl

e

(A) Td. @fﬂ‘cﬁfnﬁrﬁf
(B) @i wear wfufa

(C) =ed A Trean wfufd [

35. Under which Panchayat Nirwachy,
Niyam, the Chhattisgarh State Electigp,
Commission does notify Panchay,,
elections?

(A) Rule 90, Chhattisgarh Panchaya

~ Nirwachan Niyam, 1995
(B) Rule 3, Chhattisgarh Panchayat

Rules, 1994

(C) Section 50 (3), Chhattisgarh

Panchayat Raj Adhiniyam, 1993
(D) 69,

Section Chhattisgarh

Panchayat Raj Adhiniyam, 1993

36. Which Committee was set up in 1977

Vel
(’%‘\Q\(’ to review the working of Panchayats?
N (A) L. M. Singhvi Committee
?,Q/&L/
(B) Ashok Mechta Committee

(C) Balwant Rai Mchta Committee

(D) G. V. K. Rao Committee

(D) <. &t . v gfafa

SET-D [ D-
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(©) TR TE FH (i) e
Ak st v
@y fame
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@ 6 @© @

(A Giy @ @O @) )P

® () G Gi) ()

©) @) (i) (ivj (i) R

@) @) @ ) @) %
m % g @i % T
i A AA)AA w0 E

(A) T&A e ST /O

(B) @A

(C) vama |fea o

}j i § FH

37. Match the committees and activitics

of committees of Jila Panchayat :

(a) Agriculture (/) Budget
Committee and
taxation
(b) General (ii) Cottage
Administration industry
Committee - and
market
(c) Communication (iif) Rural
and Works water
Committee supply
and
minor
: irrigation
(d) Co-operative (iv) Power -
and Industrial and
fisheries

Committee

Select the correct answer :

@ B © @
A) Gi) @) ) (@)
®) (v G) Gi) (i)
© @) G @) ()
D) G () @) ()

38.. Who chairs every meeting of the
Standing Committee of the Gram
Panchayat?

(A) Chief Executive Officer
(B) Sarpanch

(C) Panchayat Secretary
(D) Nonc of them



-~

/_39‘."'1%11311 %s@ra;% 7Y g5 o W | 39

BT HH T -
(A) THar
(B) dr=at
(©) &t
(D) 3Taat

.
/\\

40?‘?‘@7‘"& fre wifde do & 51 gan | 40,

ST T T 2
(A) ®eR g T
(B) wHAmt by T
(C) waam dy
(D) %9 dy T

41./@??@1—6; ﬁ@m e e |41

% Y T HE-9 e 9fgg 52
(A) TEES °

(B). fagmn »

(C) fatwzdt snam, He

(D) aHa ¥

Ww@ﬁmwmw 2.
< ’_? '

F1 Tfex 2

Among the ten incarnations of Vishn,

the Lord Buddha is at which Numbepy
(A) Tenth
(B) Fifth
©)
(D) Eighth

Ninth

Telasibada is associated with which

religious sect?
(A)
(B)
©
D)

Kabir Panth
Ramnami Panth
Satnam Panth

Shaiva Panth-

Which place in Chhattisgarh is famous

for expiation of cow slaughter?
(A) Pachrahi

(B) Sihawa

(C) Sirkatti Ashram, Kutena
(D) Banvarad

Bhand Deul of Arang is a temple of

which category from the following?

(A) @ p (A) Shaiva -
(B) (B) Shakta
(C) =g [ (C) Bauddha
(D) S (D) Jaina
'SET-D [D-16] GEN-CO

Scanned with CamScanner



(A) T )
(B) e

(©) iz 1
D) TR S .

u e w e =

39 Tl 1 el fomew @@ 82

(A) W%ﬁ}{-
®) w?Q

© T

57 e ¥ T _GrR A e
F wHe A ol ar?

(A)
(B) A0
(C) dEREH O

(D) werER)O

Waﬁ?ﬁw'ﬁuﬁwﬁn
g2 |

(Aj rera fag 77
(B) Fefert @ [
(C) g=Tere T

(D) gifte T o' 2

43.

44,

45.

46.

Kandel, the place related with Nahar
Satyagrah is presently situated in

which district?

(A) Mahasamund

(B) Dhamtari
(C) Gariyaband

~ (D) Raipur

“Beech tariya ma gobar chotha™-
What is the correct option for this
puzzle? |

(A) Water hyacinth

(B) Crocodile

(C) Khumari (bamboo rain hat)
(D) Tortoise -

In Jagdalpur, Dalpat Sagar Tank was
built by ruler of which dynasty?

(A) Kaktiya

~ (B) Nag

(C) Vakataka

. (D) Kalchuri

Who is the author of the book
Chhattisgarhi Danleela?

(A) ' Kapilnath Mishra -

(B) Kunjbihari Choubey
(C) Sundarlal Sharma |
(D) .Dwarika Prasad fVipra’

.SET-D
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47. Who is the author of Chanda Amayj
©? Barsais?
(A) Rt e 7 (A) Shivshankar Shukla
/(B) NICERIS RIS (B) Lakhanlal Gupta
(C) <=M warg wvey ) (C) Lochan Prasad Pandey
(D) FgT s % (D) Keyur Bhushan
(" Wi fratas AT ﬁ“{{ﬁﬁ %M | 48. Who appoints @ction\
F T2 C.ommi_sks’iaoin'f’:is:_?_
W TS (A) Governor
(B) frafem AT H FAR W (B) Governor with the advice of
T Election Commission
(C) egufa /\ (C) President
(ngﬁaﬁa? I R TR W (D) President with the advice of
W Tl‘%qﬁr @’ Election Commission
49,1 I’ e w1 e 7 E ) 49. What is the meaning of idiom ‘Jeev
(A) St TH A Daaran’?
, (A) Pardon
(B) St (B) Ceremony of consecration of ‘an
(C) oo g -idol
. (C) Desperately
(D) iR =i SAred (D) Aspiration of life
/so,/qmﬁ' YA TR A o R 2 50. ‘Khurmi’ dish is made by :
) . (A) mixture of wheat flour and
A) e R T[S & faam 9 aggery
(B) =97 3R T & fagum @ )7 (B) mixture of gram flour and
jaggery
(C) =&a & ane 3R g & fam ¥ (C) mixture of rice flour and jaggery
(D) &t wd T F fagm @VQ (D) mixture of semolina and jaggery
SET-D [D-18] GEN-cO



Two vessels of capacitics 12 litres

and 8 litres have acid of different

concentrations. Same quantity of

mixture is drawn off from each vessel
aﬁd put into each other. Now the
concentrations of acid in both vessels
are same. Find the quantity of same

drawn-off mixture from each vessel :
(A) 3.6 litres

(B) 4.8 litres

(C) 3 litres

(D) 5 litres

By selling an article at % of its
selling price, a man loses 12%. If he
sells it at 92.5% of its original selling
price, then what will be the profit

percentage?
(A) 20.4%
(B) 26.2%
(C) 19.6%

(D) 18.4%

51. 12 MR SR 8 ftex &) ammar A @ | SL
ol W Sem-stem Wiz % ufde ¥
T SId7 ¥ WA T § fage feeen
ST & 3R TH-qw ¥ et faan S ¥
s/ B W N ufe ® wiEd w6
T YO S | gEE Aen e T
fasror &t A 9| W
)
(A) 36 v
(B) 4.8 "
(©) 3?ﬂ?.'(
(D) 5 &R
52, fe A= A1 G fowd A 1% 5.
W= W T Afed @l 12% T JHEH
2 1 afz 9% 39 SHe Arkids [&Ih
e 3 92.5% W A=A &, @ T4 H
wfaerd & g ? '
(A) 20.4%
(B) 26.2%
(C) 19.6% <
(D) 18.4%
SET-D [D-19]
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53.

54.

W'maﬁ(mﬁl’»ﬁﬂﬁm
ﬁmwwwwmlm
mwﬂmm%Sﬂ%lwnm
3% raier & frg sk va-am w
o T A A
T SR TR iR fadw & o
feRer % 2 6,137 o1 sim 3, @ e
(T H) foraar €2

(A) 46,490

(B) 35,340

}9) 43,320

(D) 38,760

T fam A arl JaEer dfgd
4w IW IwEe faeie w WH
AR THE F UW B &1 UEA F
e 7 foet. & U%Ee fociex &t
frem | fioft o dfed &1
14 ¥, %1 Az awS F B
0.60/81.3 & iR Thrge @t 1.5/4H1.3
g, @ Ufga o yged GmmR & HEd
BRI '

(A) %13.74

(B) ¥11.38

(C) ¥13337

(D) % 12.50

53.

54.

Samir, Vivek and Tarun started ,
business with investments in the ratjq
3:5:4. The ratio of their period of
investments is 7:8:8. 15% of the profi;
was spent on rent and maintenance
of the office. Remaining profit was
distributed among themselves. If the
difference in the shares of profit of
Samir and Vivek is ¥ 6,137, then how

much is the total profit (in X) ?
(A) 46,490
(B) 35,340
(C) 43,320
(D) 38,760

An unsharpened  cylindrical pencil
consists of a layer of wood surrounding
a solid cylinder of graphite. The
radius of the pencil is 7 mm, the
radius of the graphite cylinder is
I mm and the length of the pencil is
14 cm. Find the cost of the material
used in a pencil, if the cost of wood
is ¥ 0.60/cm? and that of graphite is
T 1.5/cm3 :

(A) T 1374
(B) % 1138

(C) 21333

(D) T 12.50

SET-D

[D-20]

GEN-CO



55. T GPER 7 qeqd A | Ta ag 55. A shopkeeper sold two items. The
RARRERI B I hl @rE *H selling price of the second item equals
TR T | I el T H 162% & to the cost price of the first item.

3 _
RS SR T a5 W 25% F He sold the first item at a profit of
TP W 991 35 A A/REE 16§% and the second item at a loss
EIACRCE of 25%. What is his overall profit/loss
percent?
(A) THER 7104
7 1,
(A) Loss 77/0
(B) @ 529 S
7 N (B) Profit 57%
-, A
(©) Fwam 484, . /
1 \ (©) Loss 4%
(D)= 320 5
) 77 (D) Profit 32%

56. A 5 = F GEN 8264h, 3, 7 sin 56. If the 5-digit number 826ab s
11§ fawrsg &, 4 /03—b3+ab F divisible by 3, 7 and 11, find the value
o Jd #1 - of Va® - b+ ap
(A) 23 (B) 18 (A) 23 (B) 18

/ .

57. =afz ST. If (2x -3 + (2x + 5 + 27(x + 4)3

. _2\3 + 5)3 + + 4)3
(2x = 3)° + (2x + 5)3 + 27(x -\ 4)\ = 9(2x - B2x + $)0x + 4, then find
= 9(2x - 3)(2x + 5)(x + 4) T, @ ~ _

< \/llx“+7x+6 :
VIx? +7x+6 1 9F q0d HY
(A) 8 (B) 6 (A) 8 (B) 6
€ 9 Dy 4 ~ C) 9 (D) 4
—
SET-D [D-21]
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T Y T T A A M e

58 A train is to coVer 470 kmat a Wnifor,,

58. T T W wwm ) . | i
THaa 7ifd @ 470 il speed. After running 120 kn the

SR T A 1120 Fd weR
¥ IR FT TR @ w3
I A My @ 7 Feafr He
TG R T wH R 33 fire
20 JFT w1 e gom i 3 F wHE

train could run at a speed 7 km/hy s
than its normal speed duc to -
technical fault. The train got delayeg
Ey 33 minutes 20 scconds. What is p,

normal speed of the train, in km/hr 9

TRT o, et 3 s 22

(A) 60 (A) 60

B) 63 ®) 6

© 7 © 77

® 70 ~ | e
s, m\/lsﬁ(@_\b—]_\h—s) . The expression -
S ' 15+2(VI5 -2l -35)

' | isequaltos

(A) ('\/5.+\/§.+\/7) ¥ |
&) (VB+5+47)

B+5-47) %
® (V3+45-V7) ® (o5

© (B-5-V1)% o (\E—\E—Iﬁ).

(D) (\/7—«/5+\/§)?‘5 d . (D) (\/7—\/5-}.\/5)

‘/
[D-22] SEN-CO
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fen ™ SR Wk TmER ot

ik
,/20173ﬁ12018%¥€1?ﬁqa?¢qﬁﬁ%

et ¥ S ) faret (g H) B
E?ﬁ?ﬁ%:

2017 3R 2018 % SR T 1 !
TE W@IST-4, B, C, D, E 3R F ¥
ERUUEIREEARGE D)

Sales of products (in thousands)

Branches — ‘
2017 =—

2018

017 B D, E 3R F g &= T 3eI<T
%1 o T 1 U 2018 A, BHRE

60.

The bar graph below shows the sales
of products (in thousands) from SiX
branches of a company during two

consecutive years 2017 and 2018 :

Sales of products (in thousands)

from six branches—4, B, C, D, E and

F of a company during 2017 and 2018

Sales of products (in thousands)

MOL

120
100 f—
80—
60 |
40—

20—

Branches —

52017
d2018

The ratio of total number of products
sold by D, E and F in the year 2017 to
the total number of products sold by A,

2RI 99 T IAE] b qEn ¥
- %ﬂ U op B and E in the year 2018 is :
R ) @ | o
&) d

«g A 4doy () 413
(B) 5: 13 s (B) 5 : 13
(Cr4:5 (C) 4:5
7
(D) 11 :13 (D) 11 : 13

SETP GEN-CO
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ction for Question Nos. 61 and 62 .

T WA 61 3R 62 ¥ Frdyr .
. iven pie chart and ansy
TS MY O =S 1 s w9 sik Frefafad Study the 8V ' -
questions that follow : -
Total number Of students admitted i, a
college = 900

Distribution of the percentage

students in various courses

Percentage-wise  distribution  of

TG I HE mﬁa@—. | number of boys—
faua @ | _ ~ Course No. of boys

1, T 60% B.Sc. Maths 60%
=t o, fifaes fagm 50% | B.Sc. Physics 50%
., A 75% | B.Sc. Chemistry 5%
=1, Foge famm 52% ' B.Sc. Computer Science 52%
=1, %M. 55% - | B.Com. 55%

I}T P 70% BBA 70%

B
[D-24] GEN-CO

SET-D
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61. Suad.  ifas fogm, @I, 61. The total number of girls in B.Sc.
FR a9 R St e § gfrdl ot Physics, =~ Chemistry, ~ Computer
el HEA 1. TEET, Tfor, FHrR fagH Science and B.B.A. is what percent
X SHM. § AqgH bl % e 9 less than the total number of boys in
feper 1 9avTd 9 (S1gmifa gfaem) & 2 B.Sc. Maths, Computer Science and

B.Com. (approximate percent)?
(A) 22.22% ‘ :
(A) 22.22%
(B) 16.75%
(B) 16.75%
(C) 18.18%
© 1 o (C) 18.18%
(D) 22.72% . (D) 22.72%

62. SI.TEEl. HEIH ICEIES aﬁa;”rq S I 62. The ratio of number of boys in B.Sc.
AT o Mm o TEET Computer Science, B.Com. and
——— . .

Tforg,  SuEdl. wEge faae R B.B.A. to the number of girls in B.Sc.
ot wget, offfes famm | ARl i Maths, B.Sc. Computer Science and
TN Y AU T B.Sc. Physics is :
(A) 15 : 11 (A) 15 : 11
B) 31 : 27 (B) 31 :27
(C) 27 : 26 ~ (C) 27 : 26
(D) 11 :9 (D) 11 :9
SET-D [ D-25] GEN-CO



T3 difctert 2019 & gt B HeHl & 63. The given table represents the numby,
N =R SRl P, O, R 3R S gy 3= mu of computers sold by four dealers p
FR F T 1wl { | e Q, R and S during the first six months
Y HeTE Bt 3l 9 fau mu e of 2019. Study the table carefully ang
HIIWT : answer the question that follows :

", ,
BeR— | Dealer—
e P /Q’ A | Month] d & : :
EEET 102 | 109 | 97 | 97 |\ January 102 ] 109 | 97 | 97
T 95 | 94 | 99 |102 February 95 | 94 | 99 | 102
ard 84 | 87 | 89 |95 |1 March 84 | 87 | 89 | 95
EpeS 93 | 107 | 111 | 96 |% April 93 | 107 | 111 | 96
w 96 | 92 | 98 [ 105 May 96 | 92 | 98 | 105
S 101 99 | 1051 98 June 101 ] 99 [ 105 | 98
| 6l
ﬁq'ﬂ'@:ﬁ e S g1 99, 7L Wﬂ{‘-’ﬁ The number of months, vin which the
1 e Eier Q SR B "l H o Y number of computers sold by dealer §
was less than the average number of
computers sold by dealer Q over six
A) 5 Q}\ ﬁ\“/\\v\ 8 months, are :
(A) 5
(B) 4
(B) 4
€ 2 ) 2
/D’f 3 (D) 3
SET—l [D-26] GEN-CO
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64, T 1 H OB 9 o Gem 3 4 28.57%

65.

TRE A 3R 9y qwm B ¥ AR
YR B 45 ST ) Qe A & Tr=afa
e S €, < Y 4 R e g
5 T F 50% 2w § 1 A AR
A 11 3T 1 Javm B F TARIRE H
e <t ], A Y 4 F o @ we,
SHl ® $& T w1 e wfavd @
S ?

(A) 33.33%
(B) 23.33%

(C) 16.66%

(D) 22.66% 2N )
@y

s fifyan g2 ¥, DEY(CE: #1,
'5-6-27-8825:24’ ST ‘LAPTOP’ #I °
16-30-60-64-5,72" FEFA @ ST
%1 3@t v ¥ ‘MOBILE’ %1 %4
FEra foan AT ?

(A) 13-30-6-36-60-35
(B) 5-24-36-24-60-78 /
(C) 5-24-27-8-75-78

(D) 13-24-27-32-60-10

—~

65.
W2 i coded as ©5-6-27-88-25-24" and

64. Out of the total number of students

of a class, 28.57% are in section A
and the remainings are in section
B. If 45 students from section B are
shifted to section A, then the number
of students in section A4 becomes 50%
of the total number of students. If 11
students from section A are shifted to
section B, then the.number of students
in section A becomes what percent of

the total number of students?
(A) 3333%
(B) 23.33%
(C) 16.66%

(D) 22.66%
In a certain code language, ‘DEVICE’

‘LAPTOP’ is coded as ‘16-30-60-64-
5-72’. How will ‘MOBILE’ be coded

in that language?

(A) 13-30-6:36-60-35
(B) 5-24-36-24-60-78
(C) 5-24-27-8-75-78

(D) 13-24-27-32-60-10

GEN-CO

Scanned with CamScanner



S

7

./ﬁQWQHFWﬁTﬁ@TﬁEﬁWWTT%I

7 WA g T kel H & M ST

T ¥, wol € 98 9= ®Y 9 9 a9
Y = wdg gt &, fofa & fe e

e # & ww e, F | de whi
. i R\}_\\g\ known facts, decide which of the
o s

qifeheh &9 | STTER HTA § :
HUAA ;.

() T A dfEe ¥
(i) =l Hfel feramel €1
(iif) T N AR E |
(iv) T SIS §
(v) I T TR T ¢
O T fFad &1 2l

(1) mﬁﬁmﬁﬁqﬁ%lp
(HI)@rs‘ﬁ:fs‘w?ﬁ%uM

|

(W)gmwcf:rzﬁrﬁqa%l?é

(A) Tt fend (1) SR A E
(B) Temd (1) &R (11) ST STTET

-
e

(C) faomd (II) &R (IV) 3T erga

EXGES
ﬂa{ﬁmﬁé (1) @ (1) T g

66. Rcad the given Statements ang

Conclusions  carefully. Assuming
that the information given in the
statements is true, cven if it appears

to be at variance with commonly

given conclusions logically follow(s)

from the statements :
Statements :

(@)
f";\?) All pencils are books.

All pens are pencils.

(iii)] All erasers are sharpners.
All sharpners are copies.

(v) No book 1s a sharpner.

Conclusions :

@
(I) All books are copies.

Some books are pens.

(1I1) No pen is an eraser.

(IV) Some sharpners are pencils.
(A)
(B)

Ohly conclusion (I) follows

Both conclusions (I) and (ID)

follow

(C) Both conclusions (I1) and (IV)

follow

(D)

Both conclusions (I) and (IID

follow




Hefer ¥ ,second number and the fifth number
. y . 1 d - . . °
WH 131520173757 1 19 5415 fs felaged G the sixtiL umoer ;
£~ | -~ 1301521 12223757 11 19 : 5415
Yy (A) 15 .
O \‘9 (A) 15
Y17 ;W - ’
| (B) .17
(€ 14 \’4’) El (© 14
(D) 18 )ﬁ (D) 18
SET-D - D- 2 | 3
\o) (Y ‘ [ 7@ GEN-CO .
1
f)/ ﬁ&

67. ToU T T 1 erprger sor S
o (?) 1 wtreenfia @t @ -

961 | 15211089
175 | 121 ?
\»\q/
Q|/44 82 51
(A) 169 3 S '
" ®) 117 7 v
(C) 84. 2 &{
@) 96 A7 als (
O ey
9 - G
>’<q

ﬁwﬁwwwaﬁsﬁﬁzﬁm
3 <Et YR GEhE § SN TedEe—
a0 ¥ i e gen e wen A

1%

“’J\(

67.

68.

Study the given pattern carefully and

sclect the number that can replace the

question mark (?) in it :

'961 1521 | 1089
175 | 121 | 7
144 | 82 | 51

(A) 169

(B) 117

(©) 84.

(D) 96

Select the option that is related to
the fourth number in the same way

as the. first number is related to the

@

3




69. %Wﬁsm - 9. Study the following informati,

carcfully and answer the questiop

- . given below :
A. B, ; b ; :
; Il C, D, ESR FHQ vwis Each of the six friends, 4, 5 ¢
T e T a7erm-arem 3 g fepu | E and F scored different marks in,
CH a4 3k £ q BT e a— an examination. C scored more thy),
21 D3 Fawt B & w1 o r fov only A and £. D scored less thap
E3 ) ’ only B. E did not score the least
« T 3% W T8 frw R The one who scored the third higheg
TV I 37 W fopar, sy 82 marks scored 82 marks and £ scoreq
FF AR £ 6834’3?171"6@! 68 marks.
T TR ¥ SuR W ArEffay 1 . Which of the following is true with
q FA-T TE 2o respect to the given information?
, (A) Only one person scored more
(A) 8% = = = F A sgre s than F
foc (B) B’s score was definitely less

(B) B 3% 80 ¥ ffywa sg a w9 than 80

(C) D 3 =y 3i% 9rd fru (C) D scored the maximum marks
(D) There is a possibility that C

(D) C 74 3i% 9T i ol GHET 8 ‘
: scored 74 marks

70. 3T fawey w1 w97 & 9d @@ 70.  Select the option in which the numbers

ST YR Hafua § s fo fefataa are related in the same way as are the
T ,1% numbers of the following set 2\
<9 .
. VAN
VA 3259, 12, 4987 TN
(3259, 12, 4987\) Y 3% A ( ) QL 2 g
(A) (2254, 8, 2762) /‘< . b\’/\b) (A) (2254, 8, 2762) 26 |
NG coN
(B) (4752, 9, 5461)\/% s | (B) (4752, 9, 5461) o0
/@e)/ (2245, 11, 3576) Z 1) © s, 11, 3576
D) (2275, 14, 4939)-éstv \ (D) (2275, 14, 4989)
AT S 0
. -30 T -C
SET-D q/) O)rl;\) = (\.3 b (} A L GEN
A M)W
NN Gl Bt
0/. /‘}/ : \9// e _‘J
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W
71. T&U T fomesi § 9§ 5y g w5 9
w3 At sqaen 4 e fag 3
gfaeenfad =7 g% -
) 12, 85, 177, 2, 513, 871
2 LJ_’ o b
) -fr\ﬁmﬁ 3}5’@1
(A) 274 \//ﬂ\ n-2 U
~N
\\;«7/ (B) 329
Y © 383

(D) 307

/m%lﬁm%aa%
¥\ s omfer @ el 3, S A
o %1 Fe R w1 Fe g 1S
# ged T o sRfa= & 9 €| Y
o &1 2 &, S T geu 8 1 Wi |

fon § o fmar 872
(agpe o

/

(A) @& "¢
(B) efi/arct /4
R

(D) =T/mmH

Y2

71.

12,

Select the number among the given
options that can replace the question

mark (?) in the following serics :

12, 85, 177, ?, 513, 871

(A) 274

(B) 329

(C) 383

(D) 307 @/\:”éi
-

There are two couples in a family.
Riya has two children. Prity is the
wife of Arvind, who is the brother
of Suman. Komal is the daughter of
Riya. Usha is the sister of Anish, who
is the son of Arvind. Ayush is the son

of Suman, who is a male. How is

Prity related to Riya? \AH t\‘]/‘

@Yﬁ‘ \% o <7f( f
(A) Sister |
(B) Sister-in-law k W

~ ~a&, g
(C) Mother QH {

(D) Aunt



73 FetfaRaa ol W sl ) e A

g W
\ /.
— N/
/
_(A) 33
(B) 36
) 37
ﬁD) 35

ﬁmﬁfﬁaamﬁ waqmaﬂwm’{
/ ﬁﬁu@ﬁmﬁﬁwfﬂa(r)é:
wmwﬁwﬁammm%.

S Ty
Sl

ch\ﬁ \\;
- (A)B e

QNP

\~~:.\‘ J
N

73, Find the number of triangles in the
given ligure :

74. In the following qucstion, sclect the
letter which can be placed in the
place of the question mark (?) from
the given alternatives :

)(? ’\ @ (B) X
C) C .
- © C
D) W (D)
SET-D [D-32] GEN-CO



75.

© afe 'SECTION” = “35192014 59",
PLAYERS® #1 “112162519135’ =
T FAFA B 502, @ FORGIVE’
F Y Tl T st 2
(A) 18225649549 /°
(B)

©)

18156495229
1815675229

///QJY/1815672529

e

76" feu U fomedi & @ 3q 9o =1 =99
®, 8 Freafafed seen § o fag

( ?) & T R yfaeentug fean s g

T ’?/CJ”,Q,
11, 14,22, 48,123, 2 v 4
[N gl
a) 3523 ) 26 F5 0
\_/\——-/L,__} \‘
B) 382 5939 49
ey 361 L
oy y9
(D) 398 L g
e —
{d

}/wmaﬂggﬁwﬁm%@m

T g 99 4R v g1 i gen
Eicic T

(A) 367 = L}
(B) 571 =19
((C) 659 - 20U
(D) 713 =

75.

- 76.

77.

If ‘SECTION’ is coded as

“35192014159’, ‘PLAYERS’ is coded
as ‘112162519185, then how will
‘FORGIVE’ be coded ?

(A)
(B)
©
(D)

18225649549
18156495229
1815675229
1815672529

Select the number among the given
options that can replace the question

mark (?) in the following series :

11, 14, 22, 48, 123, ?
(A) 352
(B) 382
(C) 361
(D) 398
Four numbers are given, out of which

three are alike and one is odd. Find

out the odd one :
(A) 367
B) 571
(C) 659
(D) 713



78. A fou MU yer ¥ uwm wem aiw 9

STAYROMY (1), (11) 3R (111) & 7
SIS FT N WG SN T
R &2 %, 7% 9 w5 ¥ s we A
HE-9I Faurn fAfefare ¥ 3R degEw
AT IW A -

HA

SR AR feerfr # qur % foa
A e o | S e
a9 e B A w w e
ITifeT FT FT e ¥

3

HAIYRUMT

(D T foren o 0 % a2 o st

TSRt UM § G499 81 9Fq |

(II) =& gansfi =1 ey &1 o guan
Tl T |

(I11) T~7 HAfYeh T At o Heahall B,
o e HT |

(A) waad (111) g fafdame &

(B) Fad (I) 3R (1) Ffdarg & 7

(C) Faa (I) o (1) ffdeng §
(D) = +ft fafdar 7 @

78.

[n the question below

IS given
a  statcment

followed by  three
assumptions  numbere( (1), (1N
and (IIT). You have to consider
the statement and the following
assumptions, decide which of the
assumptions is implicit in the statement

and choose your answer accordingly .

Statement :

To improve the employment situatiop
in India, there is a need to recast

the present educational

system
towards implementation of scientific

discoveries in daily life.

Assumptions :

(I) The students after completing
such education may be able to
earn their livelihood.

(II) This may bring meaning of
education in the minds of the
youth.

(III) The may earn
revenue  as

State more

more  and
people  will engage
themselves in self-employment.

more

(A) Only (IID) is implicit
(B) Only (I) and (II) are implicit
(C) Only (I) and (I11) are implicit

(D) None is implicit



79.

80.

‘O @ 1T Q, R fen
QS RIAATQ, RBTRA R
‘Qﬁk’wam%‘Q,R'ch‘lmﬁ%’

‘O* RF AL T Q, RF T &
freiferfad & @ wiH-w wis B, D
7 & o1 wfaffire s & 2

(A) BSF#L#D

(B B@QF*D

(C) B*F@D

(D) B*F@L*D ~

frrefafad SHERT &1 g ST
T 3T T I T T ST -

¥% OF P, O, R, S, T 3R U TH FAFHR
it 3 < AT ST ol WA g e
@ ¥, e W Tel foh o IH A
33 21 ot = A1 AR sihTa €
R,Pwﬁmﬂq@ﬁﬁaﬁ%éﬁ&
T i amd 31 U, S % AT ¥ gEL T
®EIP Q% e A T A REIRF
T T P ol WIF 1 ?

(A) TSI dTa -~

(B) T F =AM

(C) = & e

(D) = # |

79. ‘Q @ R’ means ‘Qis the father of K

80.

‘Q$ R’ mcans ‘Qis the sister of I
‘O # R’ means ‘Q1s the brother of K’
‘O * R’ means ‘Q is the wife of R’

Which of the following expressions

represents ‘B.is the mother of D?
(A) BSF#L#D

(B) B@F*D

(C) B*F@D

(D) B*F@L*D

Sfudy the following information
carefully and answer the question
based on it :

Six students, P, O, R, S, T and U are
facing around a circular table with
equal distance between them, but
not necessarily in the same order.
All of them are facing the centre.
R is not the immediate neighbour of
P, but R is immediate left of 7. U is
sccond to the left of S. P is second to
the right of Q. What is P’s position
with respect to R?

(A) Third to the right

(B) Fourth to the right

(C) Third to the left

(D) Second to the right




S1.

83.

WWWW&?WW § <)

TE T ¥ SR g e e W e
€

(6.37.264)
(A) (4, 27, 194)
(B) (11, 62, 377)
(C) (7, 49, 252)
(D) (8, 47, 336) 4

Wamﬁgmma@twmquﬁaﬁ
1 ITEY F F o fra oR 21-ard =
SISl =1 T3 gga 2

(A) 1458

(B) 2112

(C) 1992

(D) 2023

IR FUigsRa g fou e g, f50 4 =
fodl 7 fodt =9 0 U 99 € o
AT T 1 SH AR qTH 1 T H LS i
(A) Q : BHI

(B) Y : FBE

(C) S : CFA /

(D) M : AGI

SET-D

81.

82.

83.

[D-36]

s

Sclect the option in which the Number,
arc related in the same ways as are the

numbers in the given set :
(6,37, 264)

(A) (4, 27, 194)

(B) (11, 62, 377)

(C) (7, 49, 252)

(b) (8, 47, 336)

How many times does a typist have to

press the keys of'a keyboard to type the

~first seven hundred positive integers?

(A) 1458
(B) 2112
(C) 1992
(D) 2023

Four alphabetical pairs have been
given, out of which three are alike

I some manner and one is different.

Select the alphabet pair that 1
different -

(A) Q : BHI

(B) Y : FBE

() §s - CFA

(D) M : AGI

GEN-CO



84. =R I ULH, Y, gfe i feom %

85.

wm—wwﬁﬁﬁ%wm
WHTH 72 ¥4 w €, @ 36h g
& GHH T B | feem iR T S &
IH F 470 ¥4 T | R gfte feom @
47 TAC A B, N SR IR T F T
T & ST | SR fee, e @ik gfe
& U F 650 FUC ¥, A A9 F I
ferer ®I¢ € ?

(A) T 108

(B) %135
© z202

(D) %124

e ) T W T A 45 e
% 3R @ F @ g@W iR Wq &
T @ F 60% A €| VM DT A
@ 20% wamEl ¢ | afe A R w@H
# e § T 15,400 1 R T, l WA
ﬁa:rm(%ff)%': |

(A) 78,750

(B) 85,750 4

(C) 84,770

(D) 87,500

84. Four friends, Roshni, Reshma, Sristi

85.

and Divya, have different amounts
of money with them. If Roshni takes
Z 72 from Reshma, then she will
have an amount equal to what Sristi
has. Divya and Reshma together
have a total of T 470. If Sristi takes
T 47 from Divya, she will have an
amount equal to what Reshma has. If
the total amount with Divya, Reshma
and Sristi is ¥ 650, how much money
does Roshni has?

(A) %108
(B) %135
(C) %202
(D) %124

The income of Satyam is 45% more
than the income of Ravi and the
income of Ratan is 60% less than
the sum of the incomes of Satyam
and Ravi. The income of Shyam is
20% more than that of Ratan. If the

difference between the incomes of

" Ravi and Shyam is ¥ 15,400, then

the income (in ¥) of Ratan is :

(A) 78,750
(B) 85,750
(C) 84,770
(D) 87,500
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Direction for Question Nos. 86 ap 87 .

mﬁ@nssq—a&mgﬁ%:

VIF AT feyfy F qui Fa § 3N
SEH TR HIR S ¥ | s e 90
SR I F | 5% ey ¥ fow Fad
WﬁWWWEﬁIWﬁWWﬂTﬁ
Rt % for s & w3 amem w fe
ST |

Each item describes a Situatiop ang |,
followed by four possible respongg,
Indicate the response you fip( Moy
appropriate. Choose only one respons, for
each item. The responses will be evaluae

based on the level of appropriateness fo; the

given situation.

86. 39 UF HUH H wy aw w ¥ 39 o9 86. You are working in a company wher,
Sa ¥ we ] EN— you observe that the employees
HH MW T T 997 TEr w1 ¥ ik
3191 AR A | T MU ¥ | 0 T

FHAMET FHT IAEHAT § GUR A I

are working below their potentja|
They waste time and are bored with

their monotonous jobs. You have ap

idea to imp>r0ve productivity of the

T YAd g dAferT 3% aftss srass an
. \ employees, but your superiors have
H HHMN T TG B | 396k gRT T G o
a low opinion of you. They are most

I STETHR FHIA i A G ¢ | : : . .

: likely to reject your idea. What will
. PO
ST T H you do?

(A) 19 aRel deh 791 AT Ygad

(A) Convey the idea to your superiors

(B) & spefieedl & HIoTH W,
w9 G TqT A IS

(B) Pass on the idea indirectly

- through your subordinates
(C) aft=i &1 3uam L

(C) Ignore the superiors

(D) ZA A Tl ASgd FA % fg

&1 A hT A R e A (D) Present data to strengthen your
GXd point and then share the idea
[D-38] GEN-CO
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87.

31y, firenaet sik e v =) amgfid
AR SR W W% forg fem @5 faa
¢ T AR U S e
ot 3R o ot feafer W == ey % fer
e §C & | A o <@ ¥ o womeA
feafd | foe & foe wiw g =@

H T B | T WY w1 i .

W T 1 T8 Tl W aven) whafwen g A
=fgw ?

(A) =@ < T 7% g agd o) gt §
AR TE e & & & 7 371 i
1 T § 3R 39 aXg 1 fafaty
1 ekl 3T H ¥ | T feafq
I I e gemET 1 sde

(B) AT ¥ e fp T IR,
Tl ¥ a4

(C) TE FeH Y& i o forem Jam
F1 THINE @ieH & fag et &
HEAT Y T &

(D) 3% =dd f& sr@c wwen $A
il % Wy T, Hife q 8y 8
fgaEd A @id § iR A fF

YA F T4

87.

Supply of illegal, adulterated and local
alcohol is a matter of concern for the
citizens and administration. A meeting
was called by local people and you
also attended to discuss the situation.
Pcople claim that the administration
is not doing cnough to deal with the
situation. You are representing the
administration. What should be your

rcaction to such claims?

(A) Tell that this problem occurs very
frequently and itis the individuals
in the city only who run these
business and it is for them to stop
such activity. It is not the duty of
district administration to handle

such situation

(B) Tell the citizens should refrain

from buying local liquor

(C) Begin by stating that district
administration needs the
cooperation of citizens to find a

solution

(D) Tell them that the real problem
is with people as they buy illegal
and adulterated alcohol, and not

with the administration
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mmsswsoﬁgﬁ%w;
masmﬁnf&ﬁ%vﬁﬁfavmww
(RIS e F ¥ wmim @y R
mwﬁam%%ag;

(D ==3% 6004 IH F WY o @

(D) 10 s==zam, 2010 % IR, 24 9
ﬁmeﬁisoaﬁ@afwaﬂqﬁ
(I\’)wfmiimﬁwsaﬁ
R B
TS R T SRR -
(a) wz‘m(l\/)aﬁa?@mw‘mﬁg‘f
= T F@ T A g g
T Tewm T T SEE HHAT
(b) ST (I11) S Sream 95ff wres
T 99 AMER § w9 Y T
T T; 9% A9 el feer, faqum
=1 1 ST

ST RS AN FEfatEd g 99 b @
T FAEFI F OAMR W, AT TOF TS 5
a9 4 f9oig o1 2rm

AT T 1 ATHA A @A F 1T WHed 10
FFAL, 2019 F ATANZ |

SET-D [D-40]

Direction for Question Nos. 88 ang 89 .

sad the following information angyy
Read the NSy

these questions. For getting selecteq

oy

a Marketing Manager 1n a Company,

candidate must :

(D be a graduate with at [eqg 6()
marks

(IT) have secured at least 459, Mark,
in the written test

(IIT) not be less than 24 years and
more than 30 vyears as
10 October, 2019

(IV) have work experience of at |¢g,

on

three years as an officer
However if a candidate :
(@) ftulfills all other criteria except at
(IV) above, but has diploma in
Marketing Management : his her
case 1s to be referred to General
Manager, Marketing
(b) fulfills all other criteria except
at (IlI) above, but has worked
as Marketing Officer at least for
three years; his/her case is to be
referred to Director, Marketing
Based on the above criteria and
information given in each of the following
questions, you have to take the decision
with regard to each case.
You are not to assume anything. These cases

Are given to you as on 10 October. 201°.
\

GEN-CO
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89.

Gfva fuset s aufl @ uew gen o sifimr
¥ ®9 W HIAE § | 3TR! SIfaf 19 1,
1987 &1 3% feilt qten H (5% ik
3R fafaa wan o 48% wra faru &

(A) TRIYEYE, faquH ) 9= o
(B) I=fiear =1 fraifsa =81 feman =g
(©) Sftean @ i fm e

(D) &K@ 21 fvia &q wat< &1 ©

T 72% 37ehi & WA Ygq Joit 9 1
T AR 3= faguH yevA o fewmn fean
21321 foafad Tien o 50% si sirad
T €1 3 TR, 2017 T A 22 96 A
13 adaH H AU € |

(A) SHiiear e fman S ©

(B) feu mu Ta1 fofa o & foae vaf@

(C) Iwfigar &1 frafe &l 1 St &

(D) WeEH, faqur & T S S
wifem

hl

88.

89.

Sanchit has been working in an
organisation as an officer for the last
5 years. [lis datc of birth is
19th March, 1987. Hc has secured
65% marks in the degrec cxamination

and 48% marks in the written test :

(A) To be referred to General

Manager, Marketing
(B) Candidate is not to be appointed
(C) Candidate is to be appointed

(D) Given data are not sufficient to

take decision

Rakesh is a first class graduate with an
aggregate of 72% marks and has done
a diploma in Marketing Management.
He has secured 50% marks in the
written test. He was 22 years old

on 3 October, 2017. He is currently

| unemployed :

(A) Candidate is to be appointed

(B) Given data are not sufficient to

take decision

(C) Candidate is not to be appointed

referred  to  General

(D) To be

Manager, Marketing

SET-D
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90. VYR TIRE fquTT GEmei ¥ 3iwa w1 90.
U USE 9H Wipfas demsil & i
¥ 9 ¥ R 2
(A) S:11
(BY 15:16
() 11:15 -
(DY 10:11

91. ==, 9% 3R To@fwa I @ <l 91.
S SR 94 9 sFa # g A o
T 33% @ T v9® 45 A § 9
g w19 gl THe | e 9 g9y
5 SC W9 w9 a9 ofed 9 5495
32 Hvw 59 w6l w1 Fd Ten 9.
(A) 31500
(B) 36000
(C) 38500

s

(D) 36960

92. Iz 42 + p2 + 2 + 384 97,
= 1602¢ — b — a) Z,
\/(a/)—/)c~ca)+4 z
(A) &[5
(B) 16
(C) 45
(D) 18 /

SET-D [ D-42 ]

What is the ratio of average of first
cleven prime numbers to the average

of first fifteen even natural numbers?

(A) 8:11
(B) 15:16
(C) 11:15
(D) 10:11

Arnab, Decepak and Satyajit contested
in an election. All the votes polled
were valid. Arnab got 33% of the total
votes. For cvery 45 votes Satyajit got
19 votes. The winner got 5495 more
votes than the person who received
the lcast number of votes. Find the

total number of votes polled :
(A) 31500
(B) 36000
(C) 38500
(D) 36960

If a4+ H2 + 2 + 384
= 16(2¢ — b — a), then
\/(a/)—l)c—cu) +d s

(A) 8YS
(B) 16
() 4Vs
(D) 18

GEN-CO
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03. FawA A IR B & faeniai =1 sigm 93. The avcrage weights
' i qudents of Sections A and B
R, T8 T H 45 v . stu
felt %, ' having 45  students cach arc
43.6 TRUL. SR 458 fem €1 40.25 43.6 kg and 45.8 kg, respectively.
. % A YR A 9R BTE @l Four students of Section A ha'ving
JE B T TuHRE average weight 40.25 kg were shifted
fen SR to Section B and four students of
faeH B AR B H OURA A H Section B were shifted to Section
worRd R T, feed 9 el A, making the average wcig}.lt of
N both the Sections cqual. What 18 the
1 SiR SR TA €T AR B average weight (in kg) of the students
JTH A B ARG SEl 1 Ed 9R who were shifted from Section B to
(fem. #) =W a? Section A?
(C) 52.625 (C) 52.625
D) 52.75 (D) 52.75
04, TF A A 12% aftD = 1t d | 94. A person borrowed a sum of 32,500
3 qdf ¥ ferw afis =Ergfs = T at 12% per annum for 3 years, interest
5 37500 SHR ferg| <1 Al bl HAI compounded annually. At the end of
T S ¥ 15,368 & faU P two years, he paid a sum of ¥ 15,368.
o ’ At the end of 3rd year, he paid v to
Eote| e A scricacicd ’ -
\ R EET A fﬂQ clear of the debt. What is the value
ymwmlywmmaﬂ: of y 2
(A) T27,216 (A) 27216
(B) ¥28,448 B) T 28448
C) ¥25,200
© ’ (C) T 25,200
(D) ¥27,328
A : (D) ¥ 27,328
SET-
° [D-43] GEN-CO
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9s.

faFTd mhct T wm @ 30 fA H W
Th1 € 3R ghe 39w F 45 A
H R T ¥ e wm e w
S A & ar gha off sww @
TSR TG Fo el % e el
IH W I W Y R A firer S
T H B 1 afe ads 3 33%%@1
T, @ R el o = @ gen?
(A) 13

(B) 15

€) 21

(D) 14

96.

96. A R B W A & g ¥ firg
SR Y gl @ AB 1 A4 s i
H fawfsa =% € 1 7 AB &1 fewn o
TEd % AR AE G 4§ Y IR B @
Y 9% fon T 99y 5:7 & oAU H
T 9 HI SFATEE H A SR T H
MTT Y Al A GO ©
(A) 1997
(B) 9:7%F
(C) 289 7%
(D) 19:28 %

SET-D

[D-44)

.. Vikash alonc can do a job in 30 dayy
Ny

while Sunil alone can do it in 45
days. Vikash starts the job, and afy,
5 days, Sunil joins him. Again, afy
a few more days, Alok joins them gy
they together finish the job. If Al
has done 33%% of the job, then iy

how many days is the job donc?
(A) 13
(B) 15
(C) 21

(D) 14

A and B are two points in a river.
‘Points X and Y divide the straight line
AB into three cqual parts. The river

flows along 4B and the times taken

‘by a boat to row from A to Y and

from B to Y are in the ratio 5:7. The
ratio of speed of the boat downstrean
to that of the river current is equal
to :

(A) 19:9

(B) 9.7

(€)
(D)

28:9

19:28
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98.

W T3 FH F 1054560 B W

FEEE OTY R OIE 999 & faw
(r = 3% Wi I ® R T R A&
(T F) T=a71 5r?

(A) 1968.73
(B) 2230
(C) 2331.23

(D) 20475

AABC 3. AD, BC ¥ D W faer
/4 =1 aues &1 3 AC =24 ¥4,
BC = 13 &1 3R BD =i @ar DC

33 I w9 %, G AB US1 W warg

97. A sum of ¥ 9,375 amounts to

98.

Z 10,545.60 in 3 years at r% per
annum, interest being compounded
yearly. What will be the simple
interest (in ¥) on the same sum and
for the same time at (r + 3)% per

annum?

(A) 1968.‘75
(B) 2250
(C) 2331.25

(D) 2047.5

In A4BC, AD is the bisector of £4
meeting BC at D. If AC = 24 cm,
BC = 13 cm and the length of BD is

3 c¢m less than DC,. then the length

(541 H) ¥ (in cm) of the side AB is :
(A) 15 (A) 15
(B) 18 (B) 18
(C) 16 (C) 16
D) 12 D) 12
SET-D [D-45] GEN-CO
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99.

100.

T AN Tw T % FW @ T
T TEE W W g @ W eTga
H foamr ™ ) orsfa 3w HuE
21 9. § | TS F Fod g A
AR T F Fod TS ATHA F S
11:28 €| BT 1 FoA A (I3
#) fore 2

ardfmen

_>qq‘

(A) 324833
(B) 3954.33
(C) 3462.67
(D) 3354.67

fag X 3R ¥, % a1 99 W § | OX4
IR QVB 94 & dRY Tk fuag O 4

FHRT: X 3R YW g9 @1 e €1

fag R, <¥ 99 XY W 39 ¥R ¢ f&
/RXA=61° R LRYB = 43° ¥ %,
@ LXQY & W9 @ AL |

(A) 30°
(B) 26°
(C) 289

(D) 320

99.

100.

SET-D

A hemisphere is kept on the top of 4
cube. Its front view is shown in the
given figure. The total height of the
figure is 21 cm. The ratio of tota]
surface area of hemisphere and tota]
surface area of cube is 11:28. What
is the total volume (in cm?) of the

figure?
Hemisphere
—> Cube
(A) 3248.33
(B) 3954.33
(C) 3462.67
(D) 3354.67
Points X and Y are on a circle

with centre. QXA and QYB are
tangents to the circle at X and 7,
respectively, from a point Q outside
the circle. Point R is on the major

arc XY such that ZRXA=61° and

"/RYB = 43°, then find the measure

of ZXQY :
(A) 30°
(B) 26°
(C) 28°
(D) 320

[D-46 ]
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ot frefafaa uRarg WhH & @ ad
% v B faaor 1 wel frem w6 e

AT Wbl
T AW

(a) <ferrm
RR |

(b) =R
St

(c) =AY
BINE]

(d) @R
I

(e) Hehrat
st

T I A -

@ ()
(A) () @D
B) (i) (i)
© G )
D) (v) ()

WA o faaor

(1) R T F I-Td
2 el g A

(i) 7\ wew & AreaTHe
iR feeare faai d

(iif) o gret % 3l
amH -

(iv) Iy &% E-T™
STqEA WshH
fFm A

(v) SEqR 3R Ten
o o

© @ (@
(i) (v)- ()
iy (@) O
iy (i) ()
iy (i) ()

101. Match  the following scries  of
Dharwar system and their respective

distribution in India :

Name of Series

of Dharwar Distribution
in India
System
(¢) Champion (i) North-cast of
Scrics Mysore city to

cast of Bangalorc

(b) Champancr (if) Balaghat and

Scrics Chhindwara
districts of
Madhya Pradcsh
(c) Closcpet (iif) Northern
Serics extremity of

Krishna vallcy

(d) Khondalite (iv) Outlinc of

Serics Aravali system

in the. vicinity of
Vadodara

(e) Sakoli Serics (V) Jabalpur and

Rewa districts

Choose the correct answer :

@ b © @« ©
(A @) @) aiy @) W

SET-D
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B) () @) @) @) O
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{02. Match the following :

Hy/ﬁmanvﬁﬁmﬁaﬁ: =
A P /\
(‘/ » ) M el
/J\/ (a) Dlphu wl) Connccts Many;
@ fog O wmdswawa Y v and Leh
A i \\\
b . . .- ' \‘ \ (b) Muling La (i) COnnccts
(0) gfgmen (i) mazaﬂﬁfaﬁﬁ y/\ Uttarakhand wit
s Tibet
© 'ﬁ-‘ﬂ"‘t?ﬂ (i) N '(c) Pcnsi La (itf) Connccts Kashmir
Valley to Kargil
. R sk .
) () SN (d) Baralacha (iv) - Connccts
. e ' Arunachal Pradesh
-W@?‘T (m) N : ‘to- Mandalay
m% | (Myanmar)
sdig- Tt .
https:/t.me/psicvyapam
T SW g4 - | -Choose the correct answer :
(a) (%) (c) (@) (a) ®» - (0 (d)
@) @ @ G o) A 6 Gy @y )
® ) @) @) @) ® O G @ W
C) (iv) (iii) (if) () (C) (iv) (”1) (ii) ()
.é}E) (iv) (i) (iir) (i) D) (v (i) (i) (0

SET-D



frafafas e B Tem wd s

10/3/ 103. Read the following statements and
/ -
7 g7 choose the correct answer .
— . Statement-I India has 015
-1 HILT N g
T 615 g ¥ for [slands out of
o 5,27 -l wrel 4 feord which 527 lic in
i 7ﬂ Bay of Bengal.
// : .
HUA-I1 1 S Y @rEt F g a1 Statement-11 Main Islands of
/ Bay of Bengal
USHA de fhrar g9 998
¥ : ' are Andaman and
Nicobar Islands.
weE-111 ; 3TUEHH g Hig @l FehEr Statement-III : Andaman Islands
?f g9 ggg | 10 felt W'(?/ and Nicobar
L
3T LA & | A | 4 Islands are
C// o ,separated' by 10
. —
(A) HYA-1, FeA-I T w- Gkl —1§/ Degree Channel.
: (A) Statement-I, Statement-1I and
: _ _ Statement-II‘I are true
(B) HuA-1, wUA-1I T FoA- 111 A
Rt re 11 %74 (B) Statement-I, Statement-I11  and
Statement-I11 are false
)\ - 2 FHoA-11 w ,
© 72‘ [ & & 7Y - (C) Statement-listruc but Statement-
-11 i 11 and Statement-I11 are false
( Fed-] T 3 g HYA-11 w (D) Statcmenf-l 1S false  but
{ For- 111 G & z{@ Statement-11 and Stntcmcnt-ll;
arc true
SET-D [D-49] GEN-CO



105, f9=1 9 § NTPC % foa wryen-snuif@
Z Squ WA e g el v
(B) HIENY, HEWIZ
(C) dreT=R e, fewm
(D) foeara, wen wew

y/énmaﬁﬁmmﬁ}
< ﬁﬁ.g.

[qraf-ud fad

(@ ¥fEe () Saw

&) wERfEE (i) e

() Fwfagie (i) HsE R

(@ TR () o fig
& IW T

@ ¢ © @
@A) G @) G ()
B) @) () @) ()
© Gy )  Gv i)

D) @ Gy o @

104. Which of the following is not 3 Rab;
crop?
(A) Peas
(B) Ragi
(C) Mustard
(D) Gram

105. Which of the following coal-base
power stations of NTPC has g

maximum commissioned capacity?
(A) Sipat, Chhattisgarh
(B) Solapur, Maharashtra
~ (C) Talcher Kaniha, Odisha
(D) Vindhyachal, Madhya Pradesh

106. Match the following :

Revolt Related Person

(@) CheroRevolt (i) Jawahar Bhagat

(b) Fakeer Revolt (if) Bhukhan Singh
(c) KukaRevolt  (iii) Majnum Shah

(d) Nayak Revolt (iv)- Achal Singh

Choose the correct answer :

(@) b) (c) (@)
(A) () (i) @iy @
(B) (i) Gy @iy @)
© G G @ G
(D) @G (i) () (iv)

e —



10}/ﬁﬂwﬁﬁwuﬁm;ﬁ:

FHaA-1 ;1828 H ciegiced wifquyH

EARICER< I8 \O

FAF-II @ 1848 1 Hedesd waifgueH
¥ foem 4 fafew e
THITEA 1 TS gl | |

(A) weA-1 T FerA-11 < wer E
(B) m-lqéw—llfl"ﬁﬂaﬁ%% |

(C) Foa-1 e & T HA-1L e

=
«

}) FgA-] T § T w11 W

107. Read the following statements and

choose the correct answer :

Statement-I1 : Landholders

Association was

formed in 1828.

Statement-I1 : In 1848, British

(A)

(B)

©

(D)

Indian Assoéiation
. was formed

by merger of

Landholders

Association and

British India Society.

Statément-l' and .Statement-II

both are correct

Statement-I and Statement-I1

both are incorrect

Statement-I is correct but

Statement-II is incorrect

Statement-I is incorrect  but

Statement-lI is correct

SET-D [D
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108. ﬁmmanqmqﬁm?

(S

AL : Xfedifer S aia
SIER gedt &t g A
1.6 fafem= ad g

I - 9=l & sfaem W 67.6%
(97) |99 Yi-ahimad
(Precambrian) 771 &g1 el

zI
(AY =97-1 T3 FA-11 TF T3 &

(B) =4A-1 94 2 9% HHA-11 79

=
<

(C) F4A-1 a9¢1 2 T -1l 74

7

(D) FAA-1 1A A (] 2 e

108. Read the following Statemeny |

dn(|

choose the correct answer -

Statement-I :  On the basis of

@Qdating

technique, carth’s Ao
ge

is approximately 46

billion years.

Statement-II : Precambrian

(A)

(B)

(©)

(D)

Period constitutes
approximately 67.67%

of earth’s history.

e

Statement-I and Statement-[]

both are true

Statement-I is true but Statement-

I1 1s false

Statement-I is  false  but

Statement-II is true

ate > ‘ll
Statement-I and  Statemen!

both are false



.
N
N2

S
7 ¥
109.TH 3.2 Gllz Sk ©is €Ld).g, & =i
TR agt §?
(A) TR LR, T Y W 3.2 faferm
AEHTH (cycles) Fomfed som
(B) & .03, v Hehes # 3.2 fiferery)
WEhH (cycles) fomfed wom
(@) FEHY, TF A A 3.2 fafer
1w fromfea wam
(D) & HLH.Y, T dehs # 3.2 faferem)O
s fremfea wam
}0/@3@ _wéqfra & ;ﬁaﬂ@);‘w
TH T
&) ToT e
(B) XNU %¥a
(C) UNIX %5
(D) Tafaad &id

%eiDouE’-ﬂ%?
(A) T AfaivF faeed
 (B) U HEA ATHRAR F

(C) @Wﬁr{mﬁw
(D) T T e S

109. What is truc about a CPU with 3.2
Gllz clock speed?
(A) This CPU will exccute 3.2 billion
cycles in one second
This CPU will
million cycles in one second

This CPU will execute 3.2 billion

(B) execute 3.2
(©)

instructions in one second
(D) This CPU willexecute 3.2 million

instructions in one second

110. What is the name of Kernel in Android
Smartphone ?

(A) Linux Kernel

(B) XNU Kernel

(C) UNIX Kernel

(D) Symbian Kernel

111. What is BeiDou ?

(A) A navigation system

(B) A computer software company
(C) A computer game company

(D) A social media platform

W—z aafiam % fau feg di-=r & 112. Which launcher was used for
o fehan T ? Chandrayaan-2 Mission ?
(A) GSLV Mk-I (A) GSLV Mk-I
(B) GSLV Mk-II (B) GSLV Mk-IT
(&) GSLV Mk-I1I (C) GSLV Mk-III
(D) GSLV Mk-IV (D) GSLV Mk-IV
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1151

RT-PCR 1 Fet i a1 3 2

(A) fo@ en—vidims <= foweA

(B) fa@  rufrom-—uieims  =H
s

©) fad  wrafrer aeime o
[ELENE| |

(D) fad Trafrer_iie s
Ruwm

114/@@1 STHYTT T’ el feerd & 7

(A) hcddhyd

) T

(C) TR e

(D) ¥R )i

TR o 3fedl WEE, 1935 W
T TR R ATl S = qiHfd &
AT i & ?

(A) @i ferfeerit T \c\“\\/
(B) e afded [

() mmﬁ

113

S

(A)

/yB/

114.

(D)

115.

What is the full form of RT-PCR?
R.eal Time-Polymerase Chaip,
Reaction

Real Transcription—Polymerase

Chain Reaction

Reverse Transcription— )C

Polymerase Chain Reaction

(©)

(D) Reverse Transcription— 7C

Polymerase Combined Reaction

Where is ‘Plasma Research Institute’
located?

(A)
(B)
©)

Kalpakkam
Hyderabad
Gandhinagar

Indore

Who was the Chief of Joint Select

Committee, which drafted the

‘Government Of India Act,1935°?
(A) Lord Linlithgow

(B) Lord Wellington

(C) Lord Irwin

(D) None of them



116%%@@%&\(@3“@

116. Choose the correct answer after
rcading following statements :
HeA-1 : TE A T BE or e Statement-1 : Assuming thét rtherc
is / no change in
AN q<AT 987 3 Tqahal ) 7
X T @, ?h*. Y- other factors,’(}[osg
TS wa 3 e e National Disposable
o | /lnggrn/(: increases
1 GUA dg1 | T | .
) V with  incrcase 1N
\Q\@Q & nsumptxon n of fixed
capital.
HUA-I1 : afe o= SRl § &% Statement-II : If there is no change
~os s in other factorsGross-
aqdrd gl § dl W : _
’ ), _National_Disposable
yaeg A \iemel dgd W \ Q) I Mdecrez;\'
Ve . ) )
T | b with  increase  in
subsidy.
/’1"
(A) =Ml FAT HET @ (A) Both the Statements are correct
S HA TTAd © ‘ :
w ' (B) Both the Statements are incorrect
(C) FoA-1 T T 9o FaA-11 e .
(C) Statement-I is correct, but
5
“ Statement-I1 is incorrect
(D) FAA-1 Ted & T w11 o
(D) Statement-1 18 Incorrect but
5
’ Statement-11 1s correct
SET-D [D-55] GEN-CO
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117. Government  of India in

L7, -/ ,
P 7. RA TR 1949 o r@ﬁ 3ma’ i 194
* stituted Nation;
TTEH F ¥ fera S S consti u c a ationa| Com,
TS fwr - S Commlttecb for the cstimatj()n (
2 national income. Who chaireg th
_ ¢
committec?
(A) TR &, wrqay o \
S ?C (A) R. K. Shanmukham Chetty
(B) =i =t 2. W ’
7 (B) Dr.C. D. Deshmukh
(© W 9. =,
_ RESRIEE (C) Prof. P. C. Mahalanobis
(D) 4t st Svaq (D) V.B. Easwaran
}&/WTRI @% qN Y Ty q@ 2 118. What is not true about general fertility
# . ' rate?
(1) 5T 3 = Y 9 g fzmd
¥ iR N EB'TV o | (i) Number of live births per 1000
ot T o women in the reproductive age
| group is called general fertility
) W IS 3 97 18-54 9 rate
o : ¢XOC } |
SRIBSIGI R W ) (ii) Generally, reproductive age
Gif) o A HTCTPJ o 7 T R group is taken as 18 to 54 years
\-‘ - - * G i i
e S (iii) General fertility rate of urban
N areas is more than that of rural
//%?Oxmmum
| (A) (9), (i) and (iii)
B) (i) ¢ (ii) .
(B) (1) (B) (i) and (if)
(C) (i) & (iii) (C) (i) and (iii)
(D) e (i) /‘ (D) Only (i)
[ D-56] GEN-CO
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Il9/ﬁ@ﬁﬂ?ﬂ7§qﬁiﬁqﬁman
P C\aggq P freger

e

s

120, £ 3 & - P e

ferg My ?

(A) . 3R qRAE
(B) THREt dehegm
(©) TS, 3T Ty
(D) F%Wﬁnmm/{)

R

5 B T g % 2
A

(y/a%a gfaay fataes, 1961 %

(B) SliehdTel a1 diehrger faderas, 2013

(C) Aderare fanes fagdes, 2002

%aﬁn@zn s fatkes, 1978

)

119. Who among the following Presidents,

has appointed maximum number of
Chief Justices of India?

(A) K. R. Narayanan

(B)
(C) A.P.J. Abdul Kalam

Ramaswamy Venkataraman

(D) Sarvepalli Radhakrishnan

120. Which of the following bills has

not been passed by joint sitting of

Parliament? ,

(A) The Dowry Prohibition Bill,
1961

(B) The Lokpal and Lokayukta Bill,

2013

(C) The Prevention of Terrorism
Bill, 2002

(D) The Banking Service

Commission (Repeal) Bill, 1978

F-guew fufaa, 1931 & 121. According to the  Provisional
uﬂ'{?@ w&ifad g & TR Collection of Taxes Act of 1931, the
feqi & 212 Jﬁﬁaﬁﬁ g1 e ? Finﬂancg/l}ill)must be passed within
(A) 120 fe how many days of its introduction?

A) 120da
(B) 90 fea % 7
(B) 90 days
(C) 75 fem
(C) 75 days
D) 60 e (D) 60 days
SET-D [D-57] GEN-CO



(22. From which of the following Stgeq

l}“ﬁﬁﬁ@ﬁwmﬁeﬁmmﬂ%ﬁq
ST ST 3 fere Y i 7

%
W ey SN\ - R

seats arc reserved in Lok Sabha

Scheduled Tribes?

(A) Kcrala

(B) W@\f (B) Nagaland
(©y =i (C) Manipur
(D) fafem (D) Sikkim

123,51 ¥ 91 A% 991 % & sdEae 4 123. Who among the following has not
e

A A GHT ey /R E? been the Speaker of Lok Sabha for
more than one tenure of Lok Sabha?

(A) Hukum Singh
(B) Balram Jakhar

(C) G.M.C. Balayogi

D) e g favd (D) Gurdial Singh Dhillon

/124. A 4 9 eHE-91 acd pfq@% ? 124. Which of the following is not the’@,d;_

“hoc Committee?
10¢ Lommittee

(A) TR & ged T+ §ge Fiafd o

(A) Joint Committee on Fertilizer

Pricing

(B) Y& Afygwyg wffa
(B) Railway Convention Committee

(C) 7 & = el W e ©

Joint Committee on Offices of
. ' Profit
/@/) e e aiE B g gt

RREERILE

(D) Joint Committee on Security in

- Parliament Complex

SET-D [ D-58 ] GEN-CO
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125. QW%WW%W&‘ HEHi?)
SRt

%;W-aﬂ%gﬁ/‘%?

() T g w6 ey @
ST A A g 37 %

(foeaay) 5c

(i) T SR e ¥ e
143 H 3fecafaa ® s

(iif) TEA ¥ T Gged v faeeh
FHA Afufram, 1951 & fog s=am
AT o WIS &R &1 Gey
T o

(A) (i) 3R (if) o

B) (i) 3R (i)

(®) (i)afr{(iii)/Q

(D) e (z‘)/Q
}6./% # } P @@%7

(A) =T
(}), femy garal (AT FER foew)
(C) =hHI

(D) IUUH ﬁ@aﬁ'é?ﬁ

125. What is correct about Advisory

Jurisdiction of Supreme Court of

India?

(1)

(it)

(iii)

(A)
(B)
(©)
(D)

Supreme Court is bound to give

£,

its opinion if President asks for
its advice
Advisory Jurisdiction 15

mentioned in the Article 143 of

Constitution

President had referred 1o
the Advisory Jurisdiction of
Supreme Court in relation to the

Delhi Laws Act, 1951 first time
(/) and (if)

(i7) and (iii)

(7) and (iii)

Only (/)

126. Which of the following 1s not an

-autonomous district?

—

—

(A)
(B)

©)
(D)

Charaideo

Dima Hasao (North Cachar
Hills)

Chakma

None of the above




127. Jﬁgﬁ%ﬂi 2020 ﬁ Q&m N et I 127. In Olympics 2020, what was the rank

aﬁ‘i"éﬁﬁ W'&ﬂ‘@ﬂ:{ﬁ:{ e ? of India among countrics whq got
\ medal in Athletics?
(A) 28ar g
&({ (A) 28th

(B) 18af W

4 th

%f 5\3® / .

C T ,
© | \% 4 (C) 17th
(D) 38 (D) 38th

Vg
<

128/%”/_2023,% gy . azn 128. What is/are correct about Australian
- A

-~

e ®/E ? /g);\; E\ e Open 20217

iy fr-ﬂ o w1 fada s (i) Men’s Singles Game was won

SAehifaeh A Sftar by Novak Djokovic
(i1) gaed 1 Sl At e § (i) One of the player winning
/{'\‘& T fEaret sie T & Mixed Doubles was Rajeev Ram
(iii) Toee sac@ H TR-T M (iii) Runner-up team in Mixed
srefaan &t o Doubles was of Australia
(A) (i), i) R (@) (A) (), (1) and (ii)
(B) (i) &R (i) (B) (i) and (if)
(C) (i) @M (iif) (C) () and (iii)
Py w0 (D) Only (i
/
SET-D [D-60 ] GEN-CO




129.

v -
/

e

-

7

g,)/wn H, F B At s

@ﬁ TN gamm
(i) 19N H, FE F it iy e
I ST ST, R Y '?;)\ﬂ
e
y/‘ﬂ’m”’f T A 911
G & A sifudem & e
T
(A) (D), (i) 3R (iii)
(B) (i) 3 (i)
C) () i)
(D) (if) 3R (iii)

130

e (fga ©vA) & g=of 1 130.

1 ol 1 Tt w9t famhed =

() Fmen = wWOm wE g
(1815-16) % SR &l T3 |

(i) 1864 W, qEEE WH @Rg 3
AT T | FI FRA Rrgen
Y TMrIRd T |

(y/(i)aﬁ'((ii)ﬁwg

(B) (i) 3 (i7) I o9 €

(C) (i) 9@ g 5af® (i) 9§

(D) (i) T & w4 (i) 319 ©

| et el YeH Gal fasreyg T 129. Read the following statements and

choose the correct option :

0

(i)

(iii)

(A)
(B)
(©)
(D)

In 1911, Congress’s Annual
Session was held in Calcutta.

In 1911, Congress’s Annual
Session was presided by B.N.
Dhar.

‘Jana-Gana-Mana’ was first sung
in 1911 at Congress’s Annual
Session.

(), (i) and (iii)

(7) and (i)

(i) and (iii)

(ii) and (iii)

Read the following statements in

relation to Hill Station and choose the

correct option :

()

(i)

(A)

(B)

©)
(D)

Shimla was founded during the
Gurkha War (1815-16).

In 1864, the Viéeroy John
Lawrence officially moved his

Council to Shimla.

(i) and (if) both are true
(i) and (i) both are false
(i) is false but (if) is true

(7) is true but (i) is false

SET-D
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131. Match the following

131. get faam H Year Event

- — (@) 1853 (D) Railway jj,

ﬂ’()m
Bombay to Thane

(@ 1853 () Ao T ” |
(h) 1857 (i) Establishmeny of ¢
irst

() 1857 (i), et et o i spinning and g,

A fige ) T . mill in Bombay

‘ - (c) 188l (#ti)) Madras Harby,,

(©) 1881 (iii) e ekt P L0 construction compjy,

(@) 1911 (iv) e =) T et (d) 1911 () Transfer of capital fr,,
W%Wﬁmm ) " Calcutta to Delhj

T IR T - Choose the correct answer. ;

W © @ . | @ @& © @
/(ﬁ G ) G (@) A & @) ) (v
®) () G @O @ P B) () @) @ (W)
(C) (i) (i) (i) (iv)f (C) () (i) 0N (v
© O G O @ ©) & G ) G

1/32'/f:‘1;T § 4§ #H-H :E;@ et 132. Which of the following buildings &
1 IR ﬁ:g? | | not an example of @‘Y{fj

(A) Trg Feemera (Fsheftre) (A) Mumbai Secretariat

(B) 7= fevaferamer (B) University of Mumbai

(C) Ywaz 815 e (C) Mumbai High Court

D) Trea it g (D) Gateway of India

0

[D-62] GENC
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133. 946 W, FE IV SaTEREE Yo
awmﬁuﬁmaﬂ(w\mw
FR w0 & fag faﬁﬂ?ﬁaﬁuﬁqﬁf el
W@\Wls‘«lﬁ@aﬁq =q wfafl %
TR T 2

(AY L Wf\@ ﬁiﬁ
(B) mlaﬁﬁ
©) ¥ A ImwE
(D) . . 3l

ﬂ/ﬂ?ﬂ@wgﬁﬂ?aﬁmqﬁaﬁw%ﬁ
% q8d SHIF TSAS =1 g fear T ?

(A) 1041 dfaum deie, 1961
(B) 1191 Sfaur HMEA, 1961
(C) 12ai HfagmH HIEE, 1962

/(97 1491 Glaur HeEE, 1962

mﬁﬁm@ﬁu?ﬁﬁmﬁﬁ
[ e

133. In 1946, Congress Party had formed
‘Committce of Experts’ under the

chairmanship of Jawaharlal Nehru to

preparc the material and proposals

for the Constitution. Who among the

following was not the member of this

committee?

(A) B.N.Ray

(B) AsafAli

(C) K.T.Shah

(D) K. M. Munshi

Under which Constitutional

Amendment, Dadra and Nagar Haveli

134.

was incorporated as Union Territory?
(A) 10th Constitutional Amendment,
1961 .

11th Constitutional Amendment,
1961

12th Constitutional Amendment,
1962

14th Constitutional Amendment,
1962 '

(B)

(©)

(D)

. No changes was made in which of

7 anféaa o HMl fema T ? the following Articles under st
(A) “HE 15 = ‘CW > \8\65 % 24 Constitutional Amendment, 19517
\/(B)/ A% 18 ) (A) Article 15
(LJZJQ (B) Article 18
ey HTDR N9 . | (C) Article 19
@) wEms 7 (D) Article 31
SET-D " [D-63] GEN-CO
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/136/. 0. g AR TSt | grafyd wmuE @

)

(i)

®
(B)
(©)

(D)

YHIfd AR TSl wdsar gd s
1 fe=<t weniolt g1 & gurd 9

SR TSI 27,1955 F HI
& &9 T FF WHR F wHHS §
SUST s Y SrE fe=) s
TN R SR fean)

(i)ﬁlt(ii)@'"ﬁ??ﬁ%
(1) 3R (i7) A o ¥
(i) aﬁ%ﬁﬁ(m Ted ©

(7) e & g (i) W€

f@wﬁwm@%?

136. Read the following statementg relateq
to Prpf. Suniti Kumar Chatterjec an(

choose the correct option :

(i) Suniti Kumar Chatterjee wag In-
charge of Hindi Pracharinj Sabhg

of Bengal before independence,

(7)) Being member of the Officjg
Language Commission, 1955,
he supported the usage of Hindj
language instead of English
language in functions of Centra]
Government.

(A) (i) and (ii) both are correct

(B) (i) and (ii) both are incorrect

(C) (i) is correct but (i) is incorrect

(D) (i) is incorrect but (ii) is correct

-137. What is net correct about Bhupen

Hazarika Setu?

/M/ I §q ifed 6l W a1 € o T A
T 7 A T R Y ' (A) This bridge spans over Lohit
: : River which 1s tributary of
\(9/ g IH T G R Al Gag Al Brahmaputra River
S (B) This is longest bridge in India
()58 Bren-wfeem &g 6 77 & of 9 ' over water
/:?ﬂ 3 (C) This is also famous as Dhola-
' | Sadiya Bridge
- 744 (D.) 8 5P 1 HY ¥ (D) This is a type f@
SET-D [D-64 ] - GEN-CO
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13§/a1rfzfzﬁ e 2021- 22 F srm

- 3 @R, 2021@%?{&.—3@%
AfgR AT foham o2

7

138. As per Economic S

Survey 2021-22,

1 ~ s IN A 2l as
what was the India’s forex reserve

on 31st December, 20217

[D-65]

(A) 523.4 fafemd st (A) 523.4 billion dollars
(B) 633.6 fafaam <t (B) 633.6 billion dollars
(C) 436.6 fafam gfer (C) 436.6 billion dollars
(P) 501.2 fafeam efer 0 (D) 501.2 billion dollars
1397@3‘@ T RN TEFG-2021 .—;F 139. As per Global Health Security
ITTHR IRA 1 Ik fepat off 2 index—2021, what was the overall
(A) 60af roo® s rankingtzflndxa? )
' (A) 60 (B) 55
(C) 661 Y o) s6at ©) 66" (D) 564
140/#@;&;" 3T i S (2020) F 37T, 140. What is the rank of India as per the
7 HemwmTET w2 World Rule of Law Index (2020)?
(A) 69T (B) 894t (A) 69th (B) 89th
(C) , 394 (D) 29a (©) 39th (D) 29th
%ﬂ./aﬂf?f?'ﬂam 2021-22#311H1'{T{,‘_€f‘{a 141. As per Economic Survey 2021-22,
W%WWW'%WWW. under ‘National Mission for a Green
Wmm@ﬂﬁiﬁﬁmg&\\ 1;\/ India’ afforestation activitics were
1 TS ? > \,\\QQJQ j/ taken up for approximately what
&) 1.18T™ %’@ (2 \\( \wl/ hectare area?
® 215 @@ - (A) 1.18 lakh hectare
(B) 2.18 lakh hectare
(©) 3.18 & TR (C) 3.18 lakh hectare
(D) 1.78 @ FFW (D) 1.78 lakh hectare
| SET-D =

GEN-co



142. SWIFT %1 $& wivf o & 2

(C) WEEE ®R acdare TR
ST Tefier

(D) fo=n wR adans  s=uiw

143. Tgon W & w=od & i ) 0

-

142. What is the full form of SWIFT9
(A)

Society for Worldwiq,
International Financiy
Telecommunication

(B) System for Worldwide

International Financig|

Telecommunication

\% Society for Worldwide Interban)
7

Financial Telecommunication

52)) System for Worldwide Interbank

Financial Telecommunication

. /_\7
143. What is true about '}_'{@Ea_,

e
, ‘ . ‘ Civilization?
\})/3‘&».’“17 i Bl HWpfa s g %
A= e () Harappa’s urban culture belongs
to Bgnfzgégﬁ
(if)® &SH w1 H oG H @ gt 3 , _ ,
. . (i) During Harappa period, people in
qIcid o . .
Gujarat domesticated elephants
y)/@:'ﬁ T oWl §H TGS i '(iii) Among discovered cities, area
ATFA TS H B © of Rakhigarhi is less than that of
N H
(A) (D), (if) ¥R (i) Arappa
. (A) (i), (if) and (iii)
(B) (i) 3 (if)
(B) (i) and (ii)
(i) AT (iii)
/02] / (C) (i) and (iii)
(D) e (1) (D) Only (i)
SET-D [ D-66 ] GEN-CO
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&/ﬂ’ I mEE i et
7 .l - ,!?/

PIEN __4]._—|
144 g )

,//
-
- R Ty

146.

—
e

ez

TEIZ 7 23 A Silal =2 8 1570
IER2i|
ERIIEEa G

% FTE T
(A) (i), (i) Z7 (iif) /~
/(R’ 37 (i)
(C) =77 (iii) .
/‘

(D) (ii) A7 (iii) V%

P ser ot
0 Jee 7 #

51t 1 & 47 §, Mymgeirmey 24 *

Winicn oF e 10i GANE L sl
/) fry /

ery levs in Pig edd

-
‘M
..’l
I
e
Lo Y
n
=
(=}
-
(@)
O
=]
&
1
e
—
e

(iif)

(A)
(B)
(€)
(D)

’/fujrara/.,fa i

Samudragupta
princes of Ganga-Yzm
and incorporated them in Gupta
empire

Harisena was the Court Poet
during ruling of Samudragupta
(i), (ii) and (iii)

Only (ii)

Only (iif)

(ii) and (iii)
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147./3;[13' A ol S e A S 147. Who among the followmg Was give,
et 2 the title of ‘Jagadguru Badshay, 9
(A) 1 Ifea e 1 (A) Adi Adil Shah 1
(B) Igw sifeat v (B) Yusuf Adil Shah
(C) Teifem stfea e 1l (C) Ibrahim Adil Shah 11
(D) fem st W | (D) Ibrahim Adil Shah I
148 %fﬁiaﬂuﬁ ERIGE T 148. Match the following :
T S | List-1 List-I1
< : ahan i 1 siid j
(@) e () s v R S e 0 ZI:: Masiid in
(b) T (i) SR T=g (b) Humayun (i) Jahangiri Mahg
(©) sm=wax (i) ST Hieg | (c) Akbar (#ii) Jamali Masjid
(@) shomdm (v) feech 4 i s (d) Aurangzeb  (iv) Moti Masjid in
Delhi
e IW I - \ Choose the correct answer :
@ ®» © @ | @ &  © @
/(A)/ (i) Gy (i) () (A) (‘i) (@) G ()
B) () Gy (i) (iv) B) O @iy (i) (iv)
© Gy Gy T © (v Gy G )
D) vy i) (i) ()~ D)  Gv) @iy (i) (1)
‘lg/ﬁﬂﬁatﬂlmmaﬁmm%7 149. Following descriptions indicate to
(i) . T8 3venH 9rR o feg ® which Island?
(i) T8 W URd & THAHA HWhHHY (1) Itislocated in Andaman Sea
AT @ § (1) Tthas India’s only active volcano
(A) AHITSH /& (A) Narcondam
(B) wg’ﬁf . (B) Sagar Island
(C) =R g * (C) Wheeler Island
/{)Z) I 5 (D) Barren Island




/(BYW>WW.I>H§T>
- > $fkaamr

(C) SR > {ER TR > i >
a1 > 3 WrR

(D) IER TR > IR > Tl >

gefeaer > g A () |

150. Arrange the following dams in de-

creasing order with respect to their

lengths :

(A) Tuirial > Tawa > Rajghat >

‘Sardar Sarovar > Indira Sagar

(B)A Rajghat > Sardar Sarovar > Tawa

> Tuirial > Indira Sagar '

(C) Rajghat > Sardar Sarovar >

Tuirial > Tawa > Indira Sagar

(D) Sardar Sarovar > Rajghat > Tawa

> Tuirial > Indira Sagar



